
AP	Computer	Science	A	 Name	___________________________________________	
Infix	to	Pos7ix	Nota8on	Worksheet	 Date	____________________________	Period	__________	

Convert	each	infix	expression	to	pos7ix	nota8on.  
1.		2.3	*	9.1	/	4.4	 2.		12.1	-	3.5	+	7.9	 3.		2	+	3	*	4	 4.		5	*	6	+	7	

5.		7.3	/	4.9	+	6.2	*	3	 6.		96	+	2.8	*	61.1	-	45.2	 7.		48	/	64	-	32	+	23	*	5	-	4	%	7	

8.		5	*	(	6	+	7	)	/	9	 9.		(	7	/	(	8	-	3	+	2	)	)	*	(	11	-	1	)	*	5	 10.		7	/	8	-	3	+	2	*		11	-	1	*	5	

Convert	each	infix	expression	to	pos7ix	nota8on,	then	build	the	Expression	Tree	from	pos7ix	expression.  
11.		12.1	-	3.5	+	7.9	 12.		96	+	2.8	*	61.1	-	45.2	

13.		(	7	/	(	8	-	3	+	2	)	)	*	(	11	-	1	)	*	5	



For	the	following	expression	trees,	write	the	expression	in	infix	nota8on,	pos7ix	nota8on,	and	compute	the	result.  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